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Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 80
Display Number Panel : Yes
Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 710870214
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 7108708581 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following crops is a commercial crop in Punjab and Haryana but is a
subsistence crop in Qrissa?

1. Tea

2. Cotton

3. Rubber

4, Rice
Options :
71087034321. 1
71087034322.2
71087034323. 3
71087034324. 4

Question Number : 2 Question Id : 7108708582 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegeduniaé



Which of the following are the two most important wheat-growing zones of the country?
A. Ganga-Satluj plains in the north-west

B. Deltaic regions

C. Black sail region of the Deccan

D. Plains of north-east

Choose the correct answer from the options below:

1.Only A and B
2.Only B and C
3.0nlyCand D
4. Only Aand C
Options :
71087034325. 1
71087034326. 2
71087034327. 3
71087034328. 4

Question Number : 3 Question Id : 7108708583 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Indian agriculture is typically characterized as

1. Land surplus, labour scarce economy

2. Land surplus, labour surplus economy

3. Land scarce, labour surplus economy

4. Land scarce, labour scarce economy

Options :

71087034329. 1 ¥ collegedunia



71087034330. 2
71087034331. 3
71087034332. 4

Question Number : 4 Question Id : 7108708584 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following countries is the main rival of India in tea export?

1. China

2. Japan

3. Germany

4. Sri Lanka
Options :
71087034333. 1
71087034334. 2
71087034335.3
71087034336. 4

Question Number : 5 Question Id : 7108708585 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegeduniaé



Given below are two statements

Statement A: MSP is declared by the government every year to provide incentives to the
farmers for raising the production of crops.

Statement B: Buffer stock is created to distribute food grains in the deficit areas and among
the poorer strata of the society at the lower price than the market price.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement A and Statement B are correct

2. Both Statement A and Statement B are incorrect
3. Statement A is correct but Statement B is incorrect
4, Statement A is incorrect but Statement B is correct
Options :

71087034337. 1

71087034338. 2

71087034339. 3

71087034340. 4

Question Number : 6 Question Id : 7108708586 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following is a global association of nations of the world to help cooperation
in international law, security, economic development and social equity?

1. United Nations Organization
2. International Monetary Fund
3. World Bank
4. World Health Organization
d gcqllegedunias



Options :

71087034341. 1
71087034342. 2
71087034343. 3
71087034344. 4

Question Number : 7 Question Id : 7108708587 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Under the Ganga Action Plan Phase Il, pollution abatement works are being taken up in how

many towns?

1. 57

2. 65

3.52

4. 69

Options :
71087034345. 1
71087034346. 2
71087034347.3
71087034348. 4

Question Number : 8 Question Id : 7108708588 Question Type : MCQ Option Shuffling
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following statements is incorrect?

1. The highest number of pigs in the world are found in India

2. Utter Pradesh provides largest amount of pork

3. Assam has the largest number of pork producing pigs

4. Pork constitutes about 7.6% of the total meat produced in India
Options :

: No Display Question Number : Yes Is Question

gcollegedunias



71087034349. 1
71087034350. 2
71087034351. 3
71087034352. 4

Question Number : 9 Question Id : 7108708589 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which type of N-fertilizer is suitable for water-logged soils?

1. Zinc Phosphate

2. Ammonium Sulphate
3. Calcium

4. Potassium Nitrate
Options :

71087034353. 1
71087034354. 2
71087034355. 3
71087034356. 4

Question Number : 10 Question Id : 7108708590 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The famous Bailadila range of hills in the Bastar district of Chhattisgarh is famous for its

1. Bauxite deposits

2. Manganese deposits

3. Copper deposits

4. High-grade haematite deposits

Options :

71087034357. 1 gcollegedunla



71087034358. 2
71087034359. 3
71087034360. 4

Question Number : 11 Question Id : 7108708591 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A farmer wishes to start a 100 sg. m rectangular vegetable garden. Since he has only 30m
barbed wire, he fences three sides of the garden letting his house compound wall act as the
fourth side fencing. What is the dimension of the garden?

1. 15 m x 6.6/m
220mx5m
330mx333m
4 40mx25m
Options :
71087034361. 1
71087034362. 2
71087034363. 3
71087034364. 4

Question Number : 12 Question Id : 7108708592 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In which one of the following industries, the consumption of natural rubber is the largest?

1. Auto tyres and tubes
2. Footwear

3. Dipped goods

4. Latex foam

Options : ‘g collegedunias



71087034365. 1
71087034366. 2
71087034367. 3
71087034368. 4

Question Number : 13 Question Id : 7108708593 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following countries was the partner country of 34" Surajkund International
Crafts Fair held in Haryana?

1. China

2. Nepal

3. Bhutan

4, Uzbekistan
Options :
71087034369. 1
71087034370. 2
71087034371. 3
71087034372. 4

Question Number : 14 Question Id : 7108708594 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Nobel laureate Abhijit Vinayak Banerjee was conferred the honorary Doctor of Letters (D. Litt.)
by which University?

1. University of Delhi
2. University of Kolkata
3. University of Mumbai

4. University of Hyderabad gcollegedunias



Options :

71087034373. 1
71087034374. 2
71087034375. 3
71087034376. 4

Question Number : 15 Question Id : 7108708595 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Where is the headquarters of European Union?

1. Geneva, Switzerland
2. Washington D.C., USA
3. New York, US

4. Brussels, Belgium
Options :

71087034377. 1
71087034378. 2
71087034379. 3
71087034380. 4

Question Number : 16 Question Id : 7108708596 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following would be deficient if one finds high somatic cell count in the cow's
milk?

1. Butterfat
2. Whey protein
3. Casein

4. Trace minerals gcollegedunias



Options :

71087034381. 1
71087034382. 2
71087034383. 3
71087034384. 4

Question Number : 17 Question Id : 7108708597 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Who was the first administrator-statesman to attempt planning as a means for economic
development?

1. C. Rajagopalachari

2. V. T. Krishnamachari

3. M. Viswesvarayya

4. Sir C. P. Ramaswami Aiyyar
Options :

71087034385. 1

71087034386. 2

71087034387. 3

71087034388. 4

Question Number : 18 Question Id : 7108708598 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Amazon rainforest span over nine countries. In August 2019, in which country did a deadly fire
broke out in the Amazon forest?

1. Brazil

2. Venezuela

3. Colombia

4, Argentina gcollegeduma



Options :

71087034389. 1
71087034390. 2
71087034391. 3
71087034392. 4

Question Number : 19 Question Id : 7108708599 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Economic liberalization in India started with

1. Sustainable changes in industrial licensing policy
2. The convertibility of the Indian Rupee

3. Significant reduction of tax rates

4. Changes in procedural formalities for FDI
Options :

71087034393. 1

71087034394. 2

71087034395. 3

71087034396. 4

Question Number : 20 Question Id : 7108708600 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The term ‘Delimitation’ which was in news recently is associated with which process?

1. Fixing the limit of Income tax

2. Fixing limits of Affordable housing

3. Fixing limits of Territorial constituencies
4. Fixing limits of Chairpersons salary

Options : .
71087034397, 1 gﬁfﬁ[‘:ﬁfﬂ&fﬂ!&i



71087034398. 2
71087034399. 3
71087034400. 4

Part B Core Agricultural Extension

Section Id : 710870215
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50

Section Marks : 200
Display Number Panel : Yes
Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 710870215
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 7108708601 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The practice of Technology Assessment and Refinement as used in programmes like IVLP
(Institution Village Linkage Programme) was based on which principle of extension?

1. Whole Family principle

2. Principle of Adaptability

3. Principle of Learning by Doing

4. Principle of Satisfaction

Options :

71087034401. 1 g?!'?ﬁﬁ'”'}iﬁ%



71087034402. 2
71087034403. 3
71087034404. 4

Question Number : 22 Question Id : 7108708602 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In the context of the meaning of extension, the term "AUFKLARUNG" is used for
enlightenment. From which language is the term derived?

1. Dutch

2. German

3. Spanish

4. Korean
Options :
71087034405. 1
71087034406. 2
71087034407. 3
71087034408. 4

Question Number : 23 Question Id : 7108708603 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegeduniaz



Given below are two statements, one is labelled as Assertion A and the is labelled as Reason
R

Assertion A: As per the NSSO survey, the youth of India are not interested in agriculture,
because it is not remunerative

Reason R: ICAR has initiated a programme called ARYA to attract rural youth towards
agriculture

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4. A is false but R is true

Options :

71087034409. 1

71087034410. 2

71087034411. 3

71087034412. 4

Question Number : 24 Question Id : 7108708604 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the following is the practice of comparing other cultural practices with one's
own and considering other cultural practices as inferior?

1. Xenocentrism

2. Egocentrism

3. Cultural lag

4. Ethnocentrism

Options :

71087034413 1 ¥ collegedunia



71087034414. 2
71087034415. 3
71087034416. 4

Question Number : 25 Question Id : 7108708605 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Arrange the following ICAR projects in the order of their implementation year, from the
earliest to the latest.

A. NARP

BE. NAHEP

C. Farmers First

0. NAIP

E. NATP

Choose the correct answer from the options given below

1.A,EDBC
2AEDCB
3.B,D,EAC
4. C D EBA
Options :

71087034417. 1
71087034418. 2
71087034419. 3
71087034420. 4

Question Number : 26 Question Id : 7108708606 Question Type : MCQ Option Shuffling : No Display Question Number : Ve« Te

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

nnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnn



Correct Marks : 4 Wrong Marks : 1

"Handing over the stick to an insider” relates to which one of the following methods?

1. Participatory Learning and Action (PLA)

2. Farming Systems Research and Extension (FSRE)
3. Rapid Rural Appraisal (RRA)

4. Participatory Rural Appraisal (PRA)

Options :

71087034421. 1

71087034422.2

71087034423. 3

71087034424. 4

Question Number : 27 Question Id : 7108708607 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The unique method of appointing a 'Village Guide' to act as a link between administration and
people was introduced by

1. Albert Mayer

2. Spencer Hatch

3. Rabindranath Tagore
4, S.K. Dey

Options :

71087034425. 1
71087034426. 2
71087034427. 3
71087034428. 4

Question Number : 28 Question Id : 7108708608 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1 gcollege dunias



Given below are two statements

Statement |: Pradhan Mantri Fasal Bima Yojana (PMFBY) aims at providing financial support to
farmers suffering from crop loss/damage due to unforeseen events

Statement lI: Ensuring the flow of credit to the agriculture sector, this will contribute to food
for society, crop diversification and enhancing the growth of the agriculture sector

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct
Options :

71087034429. 1

71087034430. 2

71087034431. 3

71087034432. 4

Question Number : 29 Question Id : 7108708609 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

'The whole is greater than the sum of individuals' is the theory associated with

1. Pavlov

2. Thorndike

3. Gestalt

4. Woodworth

Options :

71087034433. 1

71087034434, 2 P collegedunia



71087034435. 3
71087034436. 4

Question Number : 30 Question Id : 7108708610 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following methods of analysis is known as the queen of statistics?

1. Comparative analysis
2. Factor analysis

3. Regression analysis
4. Cluster analysis
Options :

71087034437. 1
71087034438. 2
71087034439. 3
71087034440. 4

Question Number : 31 Question Id : 7108708611 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the following programmes was based on the report titled “India's Food
Crisis & Steps to Meet it"?

1. IADP

2 IVLP

3. HYVP

4. LLP
Options :
71087034441. 1
71087034442.2

71087034443. 3 M collegedunia



71087034444. 4

Question Number : 32 Question Id : 7108708612 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The four Sub-Missions under National Mission on Agricultural Extension and Technology
(MMAET) are

1. Seed, Mechanization, Extension and lrrigation

2. Mechanization, Irrigation, Fertilizer and Extension
3. Seed, Fertilizer, Mechanization and Marketing

4, Extension, Seed, Plat Protection and Mechanization
Options :

71087034445. 1

71087034446. 2

71087034447. 3

71087034448. 4

Question Number : 33 Question Id : 7108708613 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The letter 'A’ in PLA stands for

1. Assessment
2. Analysis

3. Action

4. Appraisal
Options :
71087034449. 1
71087034450. 2
71087034451. 3

71087034452. 4 gcouegedunim



Question Number : 34 Question Id : 7108708614 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

You are newly appointed as an Agricultural Officer and you have been assigned the job of
‘gaining first-hand knowledge, goodwill and creating confidence among farmers of a village'.
Which extension method would you use for the purpose?

1. Mobile app

2. Farm and Home visit
3. Campaign

4. Radio talk

Options :

71087034453. 1
71087034454. 2
71087034455. 3
71087034456. 4

Question Number : 35 Question Id : 7108708615 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegedunias



Given below are two statements

Statement |: Directorate of Knowledge Management (DKMA) is the official publication wing of
ICAR.

Statement lI: DKMA works under the administrative control of the Agricultural Extension
Division of ICAR.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct
Options :

71087034457. 1

71087034458. 2

71087034459. 3

71087034460. 4

Question Number : 36 Question Id : 7108708616 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegedunias



Arrange the following extension methods in an increasing order based on the cost
A. Telephone call

B. Circular letter

C. Radio talk

D. Video film

E. Newspaper article

Choose the correct answer from the options given below

1.A B CD,E
2B A CDE
3.3.A.BCED
4B, A ECD
Options :

71087034461. 1
71087034462. 2
71087034463. 3
71087034464. 4

Question Number : 37 Question Id : 7108708617 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following is the pathfinder for need-based researchers?

1. Receivers observations

2. Receivers feedback

3. Sources feedback

4. Message of the communication process

Options : A collegedunia



71087034465. 1
71087034466. 2
71087034467. 3
71087034468. 4

Question Number : 38 Question Id : 7108708618 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Shri Harikishan Singh, Block Technology Manager wants to promote "Wider row spacing in
Sugarcane' among farmers. As an extension researcher, which combination of extension
methods would be most appropriate during the decision stage of the adoption process?

1. Field day + Demonstration + Extension Literature
2. Circular Letter + Campaign + Kisan Mela

3. Personal Letter + Exhibition + Group discussion

4. Circular Letter + Kisan Goshti + Whatsapp message
Options :

71087034469. 1

71087034470. 2

71087034471. 3

71087034472. 4

Question Number : 39 Question Id : 7108708619 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In designing a poster, the abbreviation ABC refers to

1. Attractive, Bold, Complete

2. Appealing, Better, Complete

3. Attractive, Brevity, Clear

4. Attractive, Brief, Complex

Options : g collegedunia:



71087034473. 1
71087034474. 2
71087034475. 3
71087034476. 4

Question Number : 40 Question Id : 7108708620 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Meodels are which type of aids?

1. Display

2. Presentation
3. Traditional
4. Projected
Options :
71087034477. 1
71087034478. 2
71087034479. 3
71087034480. 4

Question Number : 41 Question Id : 7108708621 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegeduniaé



Mr Gupta wants to become good extension professional. For this, what kind of public speaking
style should he have?

A. Ceremonial speaking style

B. Demonstrative speaking style

C. Informative speaking style

D. Submissive speaking style

Choose the correct answer from the options given below:

1. A only

2. A and B only
3.B and C only
4. Cand D only
Options :
71087034481. 1
71087034482. 2
71087034483. 3
71087034484. 4

Question Number : 42 Question Id : 7108708622 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegeduniaé



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Result demonstrations are used to show relative worth of a technology over
another existing technology in a farmer's field. Result demonstration is an individual method
but the field day is a group method.

Reason R: Result demonstration may or may not include field days. When neighbouring
farmers participate in field days, it becomes a group method.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087034485. 1

71087034486. 2

71087034487. 3

71087034488. 4

Question Number : 43 Question Id : 7108708623 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Sharing of information through Whatsapp groups to farmers sequentially, over a period of
cropping season, may be classified as which method of communication?

1. Individual method

2. Group method

3. Mass method

4. Non-projected method

Options : g collegedunias



71087034489. 1
71087034490. 2
71087034491. 3
71087034492. 4

Question Number : 44 Question Id : 7108708624 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: Rural Radio Forums are a combination of mass media and interpersonal
communication

Statement lI: Media forums were originally developed in Egypt

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement |l is correct
Options :

71087034493. 1

71087034494. 2

71087034495. 3

71087034496. 4

Question Number : 45 Question Id : 7108708625 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegedunias



The concept of ‘farmers friend’ represents which one of the following combinations?

1. Formal and Cosmopolite
2. Informal and Localite

3. Formal and Localite

4. Informal and Cosmopolite
Options :

71087034497. 1

71087034498. 2

71087034499. 3

71087034500. 4

Question Number : 46 Question Id : 7108708626 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il

List | List Il

A. Common 1Q test . Defleur

B. Leadership Quotient test Il. Paul Petersons
C. Socio Linguistic theory I1I. Arthur Paul
D. Theories of Mass Communication|lV. Hymes

Choose the correct answer from the options given below:

1.A-IV,B-1I,C-1l,D-|

2A-1LB-W,C-1, D-IV

3A-ILB-N,C-1V, D-1

4A-1,B-1,C-1ll, D-1IV

Options :

71087034501. 1

71087034502 2

71087034503, 3 gﬁﬁ!ﬂi%ﬁi&ﬂ]ﬁ?ﬁ



71087034504. 4

Question Number : 47 Question Id : 7108708627 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il

List | List II

A. Entropy l. Amount of information that could be added or deleted in
a channel

B. Redundancy Il. One's degree of freedom or choice to select a message

: lll. Amount of information that can be transmitted per unit
C. Noise "
ime

D. Channel Capacity IV. Any unintended message/information in the

communication process

Choose the correct answer from the options given below:

1.A-1L,B-IV,C-1l,D-Il
2A-IV,B-1LC-1, D-1I
S3A-IILB-L,C-1l, D-IV
4 A-ILB-LC-1IV, D-1
Options :

71087034505. 1
71087034506. 2
71087034507. 3
71087034508. 4

Question Number : 48 Question Id : 7108708628 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1 .
collegedunias



Given below are two statements
Statement I: Virtual Extension and Research Network (VERCON) was experimented in Egypt
Statement |I: VERCON was established by ICRISAT

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement |l is incorrect
4, Statement | is incorrect but Statement |l is correct
Options :

71087034509. 1

71087034510. 2

71087034511. 3

71087034512. 4

Question Number : 49 Question Id : 7108708629 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Bhoomi Project was implemented in

1. Karnataka

2. Andhra Pradesh
3. Madhya Pradesh
4. Rajasthan
Options :
71087034513. 1
71087034514. 2
71087034515. 3

71087034516. 4 M collegedunia



Question Number : 50 Question Id : 7108708630 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the following is an information highway for sharing Rice Knowledge through the
latest ICT tools including mobile telephony?

1. Research Knowledge Management Portal

2. Research Knowledge Messaging Portal

3. Rice Knowledge Management Portal

4. Research Knowledge Management Platform
Options :

71087034517. 1

71087034518. 2

71087034519. 3

71087034520. 4

Question Number : 51 Question Id : 7108708631 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the following emphasized the development of digitized audio-visual content not
only in the regional language but also in regional dialects?

1. Digital Green
2. Plantix

3. agMOOCs

4. Digital Blue
Options :
71087034521. 1
71087034522 2
71087034523. 3

71087034524. 4
gcollegedunias



Question Number : 52 Question Id : 7108708632 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match List I with List 11

List | List 11

A. Oculesils . Body language

B. Chronemics ll. Space and distance
C. Kinesics I, Time

D. Proxemics IV. Eye contact

Choose the correct answer from the options given below:

T.A-IV,B-1,C-1,D-1
2ZA-1,B-1ILC-1ll, D- IV
3JA-ILB-1L,C-1l, D-IV
4 A-ILB-IV,C-1lIl, D-1
Options :

71087034525. 1
71087034526. 2
71087034527. 3
71087034528. 4

Question Number : 53 Question Id : 7108708633 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegeduniaa



Given below are two statements

Statement I: In recent times, timely and accurate traceability of agricultural products and
activities in the supply chain has become a new factor in agricultural extension

Statement lI: Distributed Ledger Technologies (DLT) can be used for traceability in agricultural
extension

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct
Options :

71087034529. 1

71087034530. 2

71087034531. 3

71087034532. 4

Question Number : 54 Question Id : 7108708634 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The person who satisfies the needs of people and is willing to take the risk and go after
unnoticed opportunities is known as

1. Intrapreneur

2. Social entrepreneur

3. Entrepreneur

4. Businessman

Options :

71087034533, 1 ¥ collegedunia



71087034534. 2
71087034535. 3
71087034536. 4

Question Number : 55 Question Id : 7108708635 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
WYSIWYG is the display of a document on screen as it actually prints. WYSIWYG is an acronym
for

1. What You Say Is What You Get

2. What You See Is What You Get

3. What You Save Is What You Get

4. What You Suggest Is What You Get
Options :

71087034537. 1

71087034538. 2

71087034539. 3

71087034540. 4

Question Number : 56 Question Id : 7108708636 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegeduniai



Given below are two statements

Statement I: Theory "Z" by William Ouchi proposed that interpersonal skills are need for
group interaction. Yet, despite the emphasis on group decision making, the responsibility
remains with the individual

Statement lI: Japanese management style emphasizes collective responsibility for effective
management

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct
Options :

71087034541. 1

71087034542. 2

71087034543. 3

71087034544, 4

Question Number : 57 Question Id : 7108708637 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Hawthorne Experiment mainly emphasizes

1. Motivational need

2. Leadership management

3. Conflict management

4. Human relations

Options :

71087034545, 1 ¥ coliegedunia



71087034546. 2
71087034547. 3
71087034548. 4

Question Number : 58 Question Id : 7108708638 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which type of trainee has maximum potential for effective transfer of learning in the back-
home situation?

1. Easy Convert
2. Missionary
3. Linear Critic
4. Expatriate
Options :
71087034549. 1
71087034550. 2
71087034551. 3
71087034552. 4

Question Number : 59 Question Id : 7108708639 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegeduniaa



Given below are two statements

Statement |: e-Readiness encompasses basic elements viz., Infrastructure, Accessibility,
Affordability, Skill and Policy

Statement lI: Extension Service Delivery Mechanism to be e-Ready, should have e-Ready
extension educationist, e-Ready extensions service provider and e-Ready farmer

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct
Options :

71087034553. 1

71087034554. 2

71087034555. 3

71087034556. 4

Question Number : 60 Question Id : 7108708640 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
'If it is violated, authority is undermined, discipline is jeopardized, order disturbed and stability
threatened' refers mainly to the principle of

1. Hierarchy

2. Span of control

3. Coordination

4. Unity of control

Options :

71087034557, 1 A colegedunia



71087034558. 2
71087034559. 3
71087034560. 4

Question Number : 61 Question Id : 7108708641 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: PERT and CPM are techniques of project management useful in the basic
managerial functions of planning, scheduling and control

Statement lI: PERT is a technique of planning and control of both time and costs. CPM is a
method to control time only

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement |l is correct
Options :

71087034561. 1

71087034562. 2

71087034563.3

71087034564. 4

Question Number : 62 Question Id : 7108708642 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegedunias



hMatch List | with List 11

List | List 11

A. Panel . Emphasis is on creativity and to encourage new
thinking

B. Symposium Il. Diagnostic training group

C. T-Group Ill. Discussion of a single subject by experts

D. Brainstorming V. A series of speeches by experts

Choose the correct answer from the options given below:

TA-IV,B-1,C-1,D-1
ZA-NLB-IV,C-1, D-II
JA-1L,B-ILC-1l, D-IV
4 A-NLB-IV,C-1I, D-1
Options :

71087034565. 1
71087034566. 2
71087034567. 3
71087034568. 4

Question Number : 63 Question Id : 7108708643 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In ABCDEF of training for extension professionals, "D" stands for

1. Difficult

2. Diversity

3. Diligence

4, Decorum

Options :

71087034569. 1 # collegedunia



71087034570. 2
71087034571. 3
71087034572. 4

Question Number : 64 Question Id : 7108708644 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the following extension programmes used management principles for the first
time?

1. Community Development Programme

2. Intensive Agriculture Area Programme

3. Integrated Rural Development Programme
4. Training and Visit System

Options :

71087034573. 1

71087034574. 2

71087034575. 3

71087034576. 4

Question Number : 65 Question Id : 7108708645 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Management refers to activities involved in which one of the following four general functions?

1. Planning, Training, Leading and Controlling

2. Planning, Organising, Leading and Coordinating
3. Planning, Leading, Controlling and Evaluating

4. Planning, Evaluating, Leading and Controlling
Options :

71087034577. 1

71087034578. 2 gcollegedunia;



71087034579. 3
71087034580. 4

Question Number : 66 Question Id : 7108708646 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A systematic integrated and planned approach for improving enterprise effectiveness is known
as

1. Managerial grid

2. Organisational development
3. Management development
4. Executive development
Options :

71087034581. 1

71087034582. 2

71087034583. 3

71087034584. 4

Question Number : 67 Question Id : 7108708647 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegeduniai



Given below are two statements
Statement I: It is not possible to convert truly discontinuous variables to a continuous variable
Statement II: It is always possible to convert a continuous variable to polytomies/dichotomies

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct
Options :

71087034585. 1

71087034586. 2

71087034587. 3

71087034588. 4

Question Number : 68 Question Id : 7108708648 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the following is a forecasting process framework based on the result of multiple
rounds of questionnaires' sent to a panel of experts?

1. Brainstorming

2. Buzz session

3. Panel Discussion

4. Delphi Technique

Options :

71087034589. 1

71087034590. 2

710870345913 8 collegedunia



71087034592. 4

Question Number : 69 Question Id : 7108708649 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match List | with List 11

Data could be converted into information using five (5) main processes (Leibowitz, 2003)

List | List Il

A. Condensation |l Assigning a type

B. Contextualization|ll. Data is processed

. Calculation lll. ltems are summarized

D. Categorization |IV. Purpose of data is understocd

Choose the correct answer from the options given below:

TLA-ILB-I,C-1V,D-1
ZA-NLB-IV,C-1, D-II
JA-ILB-IV,C-1Il, D-1
4 A-NLB-IV,C-1I, D-1
Options :

71087034593. 1
71087034594. 2
71087034595. 3
71087034596. 4

Question Number : 70 Question Id : 7108708650 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegedunias



You have developed a test to measure farmers’ attitude towards natural farming. When this
test was used by 25 other research scholars, their results are consistent and measured
(empirically) farmers attitude towards natural farming. In this scenario, your test is known to be

1. Reliable but not valid

2. Unreliable but not valid
3. Neither reliable nor valid
4, Both reliable and valid
Options :

71087034597. 1
71087034598. 2
71087034599. 3
71087034600. 4

Part C Agricultural Extension Education and Communication

Section Id : 710870216
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50

Section Marks : 200
Display Number Panel : Yes

Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 710870216
Question Shuffling Allowed : Yes

Question Number : 71 Question Id : 7108708651 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical gcollege dunia:



Correct Marks : 4 Wrong Marks : 1

Which one of the following is a '"Non-parametric statistical test' for two way analysis of
variance?

1. Krushkal Wallis Test
2. Chi-Square Test

3. Friedman Test

4. Mann Whitney Test
Options :
71087034601. 1
71087034602. 2
71087034603. 3
71087034604. 4

Question Number : 72 Question Id : 7108708652 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The abbreviation IMRAD is commonly used in

1. Research Report Writing
2. Popular writing

3. Writing for Radio

4. Writing business reports
Options :

71087034605. 1
71087034606. 2
71087034607. 3
71087034608. 4

Question Number : 73 Question Id : 7108708653 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1 gcollege dunias



Given below are two statements
Statement I: All valid scales are supposed to be reliable
Statement lI: All reliable scales are supposed to be valid

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement |l is incorrect
4, Statement | is incorrect but Statement |l is correct
Options :

71087034609. 1

71087034610. 2

71087034611. 3

71087034612. 4

Question Number : 74 Question Id : 7108708654 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

CMAT means the candidates managerial

1. Attitude

2. Ability

3. Aptitude

4. Aspiration
Options :
71087034613. 1
71087034614. 2
71087034615. 3

71087034616. 4 M collegedunia



Question Number : 75 Question Id : 7108708655 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Thematic analysis is generally used for

1. Delineating construct
2. Defining concept

3. Testing hypothesis

4. Report writing
Options :

71087034617. 1
71087034618. 2
71087034619. 3
71087034620. 4

Question Number : 76 Question Id : 7108708656 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Thurstone equal appearing scale of attitude is an example of measurement at which level?

1. Ordinal

2. Nominal

3. Interval

4, Ratio
Options :
71087034621. 1
71087034622. 2
71087034623. 3
71087034624. 4

Question Number : 77 Question Id

: 7108708657 Question Type : MCQ Option Shuffling : No Display Question Number : g
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Teacher made test is usually used to measure which one of the following domains of
behaviour?

1. Attitude

2. Skill

3. Knowledge
4. Aptitude
Options :
71087034625. 1
71087034626. 2
71087034627. 3
71087034628. 4

Question Number : 78 Question Id : 7108708658 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below are two statements
Statement |: Rejecting the null hypothesis when it is true is called Type-Il error
Statement lI: Accepting the null hypothesis when it is NOT true is called Type-| error

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement |l are incorrect

3. Statement | is correct but Statement Il is incorrect

4, Statement | is incorrect but Statement 1l is correct

Options :

710870346291 1 ¥ collegedunia



71087034630. 2
71087034631. 3
71087034632. 4

Question Number : 79 Question Id : 7108708659 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: Reliability refers to the degree to which a scale provides consistent results when
repeated measurements are made

Statement lI: Validity implies to the extent to which a research instrument measures what is
intended to measure

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement |l is correct
Options :

71087034633. 1

71087034634. 2

71087034635.3

71087034636. 4

Question Number : 80 Question Id : 7108708660 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegedunias



Which one of the following is included in criticism of Roger's theory of diffusion?

1. Pro-Innovation bias and individual blame bias

2. The extent of extension workers promotional efforts is too high
3. The attributes of innovation are not defined properly

4. It did not focus on how to reduce innovation decision period
Options :

71087034637. 1

71087034638. 2

71087034639. 3

71087034640. 4

Question Number : 81 Question Id : 7108708661 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following are the process barriers of communication?
A. Feedback barrier

B. Decoding barrier

C. Receiver barrier

D. Encoding barrier

Choose the correct answer from the options given below

1. A only

2. A and B only

3. A, Band C only

4 AllA B, Cand D

Options :

71087034641 1 ¥ coliegedunia



71087034642. 2
71087034643. 3
71087034644. 4

Question Number : 82 Question Id : 7108708662 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following is an example of covert behavior?

1. Replacement discontinuation

2. Disenchantment discontinuation
3. Active rejection

4. Symbolic adoption

Options :

71087034645. 1

71087034646. 2

71087034647. 3

71087034648. 4

Question Number : 83 Question Id : 7108708663 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegeduniaz



hMatch List | with List 11

List | List Il

A. Venturesome . 13.5%
B. Deliberate Il. 16.0%
C. Traditional 1. 2.5%
D. Respectable V. 34.0%

Choose the correct answer from the options given below:

TLA-NLB-IV,C-1,D-1
ZA-IV,B-NILC-1, D-1
JA-ILB-IV,C-1, D-1I
4 A-NLB-IV,C-1I, D-1
Options :

71087034649. 1
71087034650. 2
71087034651. 3
71087034652. 4

Question Number : 84 Question Id : 7108708664 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A farmer has considered the adoption of drip irrigation in his farm (he even undertook a trial)
but then he decided not to adopt it. Such a decision is called

1. Discontinuation

2. Dissonance

3. Passive rejection

4. Active rejection

Options :

T ¥ coliegedunia



71087034654. 2
71087034655. 3
71087034656. 4

Question Number : 85 Question Id : 7108708665 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The new management practices in Integrated Pest Management (IPM) are difficult to
understand for farmers. Which one of the following innovation attribute is influencing
diffusion/adopticon of IPM among the farmers?

1. Complexity
2. Compatibility
3. Observability
4. Trialability
Options :
71087034657. 1
71087034658. 2
71087034659. 3
71087034660. 4

Question Number : 86 Question Id : 7108708666 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In Punjab, the indiscriminate sinking of shallow tube-wells in a limited area resulted in
lowering of the water table. Such behavior can be termed as

1. Social marketing
2. Over-adoption
3. Under-adoption
4. Dissonance

Options : g collegedunias



71087034661. 1
71087034662. 2
71087034663. 3
71087034664. 4

Question Number : 87 Question Id : 7108708667 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following are correct about the Innovation-Decision Process?

A. Mass media channels are relatively more important at processing stage

B. Interpersonal channels are more important at the knowledge stage

C. Cosmopolite channels are relatively more important at the knowledge stage
D. Localite channels are relatively more important at the persuasion stage

E. Cosmopolite channels are relatively more important at the persuasion stage
Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. D and E only
Options :
71087034665. 1
71087034666. 2
71087034667. 3
71087034668. 4

Question Number : 88 Question Id : 7108708668 Question Type : MCQ Option Shuffling : No Display Question Number : Ves Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical collegedunias
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Correct Marks : 4 Wrong Marks : 1

Classification of adopters into various categories is based on which of the following?

1. Mean and Variance

2. Mean and Median

3. Median and Standard deviation
4, Mean and Standard deviation
Options :

71087034669. 1

71087034670. 2

71087034671. 3

71087034672. 4

Question Number : 89 Question Id : 7108708669 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match List | with List 11

List | List Il

A. Adoption guotient . Gabriel Tarde

B. Preventive innovation Il. Ryan and Gross
C. Diffusion theory lll. Rogers

D. Diffusion in Hybrid seed corn|IV. Chattopadhyay

Choose the correct answer from the options given below:

T.A-IV,B-1,C-1,D-1
ZA-IV,B-NILC-1l, D-1
3A-NILB-IV,C-1, D-1I
4 A-NLB-IV,C-1I, D-1
Options :

71087034673. 1 -
71087034674, 2 gﬁﬁ!ﬂi%ﬁi&fﬂiﬁf



71087034675. 3
71087034676. 4

Question Number : 90 Question Id : 7108708670 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below are two statements
Statement I: In management, Espirit de corps is popularly known as 'in union there is strength’
Statement lI: Individual interest is more important than organizational interest

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement |l is correct
Options :

71087034677. 1

71087034678. 2

71087034679. 3

71087034680. 4

Question Number : 91 Question Id : 7108708671 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegedunias



In the context of management theories, which of the following statements are correct?
A. Principles of scientific management were proposed by Fredrick Winslow Taylor

B. Gnatt Chart is the forerunner of a modern technique like PERT

C. Henry Fayol is known as the father of modern management theory

D. 7S approach was proposed by Taylor

E. Father of Industrial psychology is Walter Dill Scott

Choose the correct answer from the options given below:

1. A, B, Cand D only
2. A, C DandE only
3. A, Band C only

4. B, Cand D only
Options :
71087034681. 1
71087034682. 2
71087034683. 3
71087034684. 4

Question Number : 92 Question Id : 7108708672 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegedunias



Given below are two statements
Statement I: The term ‘Management By Objectives’ was first used by Peter F. Drucker
Statement lI: The book The Effective Executive was written by Peter F. Drucker

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct
Options :

71087034685. 1

71087034686. 2

71087034687. 3

71087034688. 4

Question Number : 93 Question Id : 7108708673 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegedunias



Given below are two statements

Statement I: Management Information System (MIS) focused on semi-structured decisions
requiring managerial judgment

Statement lI: Decision Support System (DSS) focus on structural and routine decisions

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct
Options :

71087034689. 1

71087034690. 2

71087034691. 3

71087034692. 4

Question Number : 94 Question Id : 7108708674 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In any organization, whenever a problem can't be solved or a decision made without pooling
the authority of two or more managers, the authority is known as

1. Autocratic authority

2. Split authority

3. Splintered authority

4. Non-distributed authority

Options :

71087034693. 1

71087034694. 2 B collgedunia



71087034695. 3
71087034696. 4

Question Number : 95 Question Id : 7108708675 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below are two statements
Statement I: Theory X and Y were proposed by Mc Gregor

Statement lI: Theory X states average human being has an inherent 'dislike of work'. Theory Y
states that people will exercise self-direction and self-control

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement |l is correct
Options :

71087034697. 1

71087034698. 2

71087034699. 3

71087034700. 4

Question Number : 96 Question Id : 7108708676 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegedunias



Given below are two statements

Statement I: Free rein leadership is the one who uses his/her power very little and depends
largely on subordinates

Statement lI: Benevolent autocratic leader is the one who listens to followers before making a
decision but makes the decision of his/her own

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct
Options :

71087034701. 1

71087034702. 2

71087034703. 3

71087034704. 4

Question Number : 97 Question Id : 7108708677 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegedunias



Given below are two statements
Statement I: The managerial grid was proposed by Robert R. Blake and Jane Mouton

Statement lI: The managerial grid consists of two dimensions: concern for production and
concern for people

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct
Options :

71087034705. 1

71087034706. 2

71087034707. 3

71087034708. 4

Question Number : 98 Question Id : 7108708678 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegedunias



Which of the following statements are correct?

A. Contingency theory of leadership was proposed by Fred E. Fielder
B. Path and Goal leadership theory was proposed by Victor Vroom
C. Normative leadership theory was proposed by Robert H. Houre

D. Path and Goal theory states that leader should make goals and clarify the path to
subordinates

E. Normative theory offers guidelines on how decisions ought to be made in specific situations
Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3. A, DandE only
4. C and E only
Options :
71087034709. 1
71087034710. 2
71087034711. 3
71087034712. 4

Question Number : 99 Question Id : 7108708679 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

gcollegedunias



Given below are two statements
Statement I: Chio state leadership studies were proposed by Ralph M. Stogdim

Statement lI: Ohio state leadership studies determine the relationship between concern for
people and concern for production

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct
Options :

71087034713. 1

71087034714. 2

71087034715. 3

71087034716. 4

Question Number : 100 Question Id : 7108708680 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Identify the statement which is correct with respect to the Panchyati Raj System

1. It was recommended by Balwantrai Mehta Committee

2. Originally, S.L. Mehta Committee was appointed to review CDP and NES

3. It was recommended by V.T. Krishnamachari Committee

4. It was recommended by Mohan Singh Mehta Committee

Options :

71087034717. 1

71087034718. 2

71087034719.3 B collgedunia



71087034720. 4

Question Number : 101 Question Id : 7108708681 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The method of research which solves an ongoing problem having immediate relevance to
society is called

1. Explanatory research
2. Descriptive research
3. Action research

4. Applied research
Options :

71087034721. 1
71087034722. 2
71087034723. 3
71087034724. 4

Question Number : 102 Question Id : 7108708682 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A statutory body created by an act of parliament concerning village/cottage industries

1. KVIC

2. SIDBI

3. SMEDA

4. EDP
Options :
71087034725. 1
71087034726. 2
71087034727. 3

71087034728. 4 gcouegedunim



Question Number : 103 Question Id : 7108708683 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: 'Startup India' and 'Standup India’ are the key initiatives of Government of Indian
for promotion of entrepreneurship

Reason R: Startup India provides relaxation in certain rules and regulations for startup
companies and Standup India focuses on potential entrepreneurs belonging to SC and ST
communities

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087034729. 1

71087034730. 2

71087034731. 3

71087034732. 4

Question Number : 104 Question Id : 7108708684 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegeduniaé



Which one of the following is considered as the seed for entrepreneurship development
programme?

1. Microlab experiment
2. ACABC

3. Kakinada experiment
4. Nilokheri experiment
Options :

71087034733. 1
71087034734. 2
71087034735. 3
71087034736. 4

Question Number : 105 Question Id : 7108708685 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
SIDBI is the first bank set up exclusively to provide funds to which one of the following types
of enterprises?

1. Medium scale
2. Large scale

3. Small scale

4, Corporate
Options :
71087034737. 1
71087034738. 2
71087034739. 3
71087034740. 4

Question Number : 106 Question Id : 7108708686 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1 gcollege dunias



.............................. is the employer whereas a ................... is an employee in an enterprise

1. Manager, Subordinate
2. CEO, Workers

3. Entrepreneur, Manager
4. Intrapreneur, CEO
Options :

71087034741. 1
71087034742. 2
71087034743. 3
71087034744. 4

Question Number : 107 Question Id : 7108708687 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Arrange the following stages of Startup funding from earlier to later
A. Initial Public Offering (IPO)

B. Seed funding/capital

C. Mezzanine funding and bridge loan

D. Angel investor funding

E. Venture capital funding

Choose the correct answer from the options given below

1.E D, CB A
2B DECA
3.A,B,CDE
4B EACD
Options : gcollegedunias



71087034745. 1
71087034746. 2
71087034747. 3
71087034748. 4

Question Number : 108 Question Id : 7108708688 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below are two statements
Statement I: Product, Price, Promotion and Place together make the marketing mix
Statement lI: Fifth 'P’ of the marketing mix is 'Packaging’

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement |l is correct
Options :

71087034749. 1

71087034750. 2

71087034751.3

71087034752. 4

Question Number : 109 Question Id : 7108708689 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegedunias



In research, 'Objectivity’ refers to

1. Bias free

2. Multiplicity
3. Suggestion
4. Opinion
Options :
71087034753. 1
71087034754. 2
71087034755. 3
71087034756. 4

Question Number : 110 Question Id : 7108708690 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following is the actual physical product of source encoder?

1. Channel

2. Treatment
3. Receiver

4, Message
Options :
71087034757. 1
71087034758. 2
71087034759. 3
71087034760. 4

Question Number : 111 Question Id : 7108708691 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegeduniai



Given below are two statements

Statement I: APEDA is the naticnal level agency for promoting export of agricultural and
processed food products

Statement lI: APEDA is under the administrative jurisdiction of the Union ministry of
Agriculture and Farmers Welfare

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct
Options :

71087034761. 1

71087034762. 2

71087034763. 3

71087034764. 4

Question Number : 112 Question Id : 7108708692 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
All the domestic support measures, considered to distort production and trade are grouped
under

1. Green Box

2. Red Box

3. Amber Box

4. Back Box

Options :

71087034765 1 P collegedunia



71087034766. 2
71087034767. 3
71087034768. 4

Question Number : 113 Question Id : 7108708693 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In recent years, direct marketing by farmers has gained importance. Which one of the
following is NCT a direct marketing program?

1. Rythu Bazar in Andhra Pradesh
2. Apni Mandi in Punjab

3. Uzavar Santhaigal in Tamil Nadu
4. Apno Bazar in West Bengal
Options :

71087034769. 1

71087034770. 2

71087034771. 3

71087034772. 4

Question Number : 114 Question Id : 7108708694 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the following grants Intellectual Property Rights to plant breeders, researchers
and farmers who have developed new/extant plant varieties?

1. TRIPS
2. TRIMS

3. PBRFRA

4. PPVFRA

Options :

71087034773. 1 gﬁoglggfegur:;g;



71087034774. 2
71087034775. 3
71087034776. 4

Question Number : 115 Question Id : 7108708695 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

An abstract formed from generalization from a particular is called

1. Concept

2. Construct

3. Variable

4. Theory
Options :
71087034777. 1
71087034778. 2
71087034779. 3
71087034780. 4

Question Number : 116 Question Id : 7108708696 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegeduniaé



Given below are two statements

Statement I: MOOCs (Massive Online Open Courses) provide a learning platform to a range of
learners in asynchonous mode.

Statement lI: Asynchronous mode of learning is an advantage for both teacher and learner,
where they can share their opinion, ask questions and get response but not in real time.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct
Options :

71087034781. 1

71087034782. 2

71087034783. 3

71087034784. 4

Question Number : 117 Question Id : 7108708697 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Women's Empowerment in Agriculture Index (WEAI) was developed by IFPRI, Oxford Poverty
and Human Development Initiative (OPHI) and USAID in 2012. According to this, how many
domains are identified to measure the women's empowerment in agriculture?

1. 4
25
3.6
4.7
Options : g collegedunias



71087034785. 1
71087034786. 2
71087034787. 3
71087034788. 4

Question Number : 118 Question Id : 7108708698 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: Sex refers to psychological, social and cultural differences between males and
females, whereas gender refers to biological differences in the body

Statement lI: Sex refers to the physical differences in the body, whereas gender refers to the
socio-cultural differences between males and females

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement |l is correct
Options :

71087034789. 1

71087034790. 2

71087034791. 3

71087034792. 4

Question Number : 119 Question Id : 7108708699 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegedunias



Central Institute of Women in Agriculture (CIWA) was established in Bhubneshwar, which is
directly under the control of

1. DDG (Crop Science)
2. DDG (
3. DDG (Agricultural Extension)
4. DDG (NRM)

Options :

71087034793. 1

71087034794. 2

71087034795. 3

71087034796. 4

Agricultural Education)

Question Number : 120 Question Id : 7108708700 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Established in 2010, the United Nations entity for 'Gender Equity and Empowerment of
Women' is known as

1. UN Gender Pro

2. UN Equity

3. UN Women

4. UN Empowerment Fund
Options :

71087034797. 1
71087034798. 2
71087034799. 3
71087034800. 4

gcollegeduniaé



